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a. Identify the need for developing the content or structure of modules with 

colleagues and make proposals on how this should be achieved. 
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a. Balance the pressures of teaching and administrative demands and competing 
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Please reflect upon the whole event and grade your experience out 

of 10. With 10 being ‘Excellent’ and 0 being ‘Very Poor’.  

Circle the grade below. 

 
     1   2   3   4   5   6   7   8   9   10 
�

Please Use This Space If Required  

______________________________________________________________________________________________________

______________________________________________________________________________________________________

______________________________________________________________________________________________________

______________________________________________________________________________________________________

______________________________________________________________________________________________________

______________________________________________________________________________________________________ 

______________________________________________________________________________________________________

______________________________________________________________________________________________________

______________________________________________________________________________________________________ 
 

In the space below identify what you would ‘ideally’ like form a 
Personal Tutor 
______________________________________________________________________________________________________

______________________________________________________________________________________________________

______________________________________________________________________________________________________

______________________________________________________________________________________________________ 

______________________________________________________________________________________________________

______________________________________________________________________________________________________

______________________________________________________________________________________________________

______________________________________________________________________________________________________

______________________________________________________________________________________________________
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6.65 

7.55 

7.76 

6.66 

7.58 

7.79 

6.61 

7.37 

7.58 

6.50 

7.55 

6.34 

7.08 

6.21 

7.57 

8.07 

6.70 

7.68 

7.68 

7.44 

8.26 

8.60 

7.42 

Being a student at this 
university provides good value 
for money  

I know I made the right 
decision by coming to this 
university  

I'm really enjoying being a 
student at this university 

Computing Sciences & 
Engineering 

Health and Life 
Sciences 

Humanities 

Art & Design 

Business & Law 

>=PG Sample 

<=UG Sample 

Total Sample 

Strongly Disagree Strongly Agree Scoring Out of 10 
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